HARDWARE PACK #: PZN300WCLH

NO. DESCRIPTION SIZE QTY
K SHORT BOLT 1/4"-20 x 1/2" 28pcs
L MEDIUM BOLT 1/4"-20 x 7/8" 4pcs
M \ LONG BOLT 1/4"-20 x 1-7/8" 2pcs
N M SCREW 4-40 x 1" 2pcs
(o) WASHER $16mm 4pcs
P NS} PLASTIC PLUG 13 x 38mm 4pcs
Q P ALLEN KEY 4mm 1pc

R = WRENCH 8mm 1pc




PARTS FOR ZN300WCL

Hardware # :

PZN300WCLH

Complete

PZN300WCLTBF
OX FRAM

PZN300WCLLCAS

PZN300WCLCAS
R

PZN300WCLBB
M




PARTS FOR ZN300WCL
Complete Hardware # : PZN300WCLH

PRODUCT DETAILS
TOP BOX FRAME
SHELF PANEL MDF
BAR
G IRON/CHROME
PLASTIC PLUG
CASTER PLASTIC
LOCKING CASTER
LIFT-TOP MECHANISM IRON
PRODUCT SIZE WA47.25" x D23.5" x H21.25"~28.75"
CARTON SIZE W51" x D26" x H8.25"
NET WEIGHT 78.36 LBS
GROSS WEIGHT 86.24 LBS
CU.FT. 6.33'/ CTN

Made In Taiwan
Hecho en Taiwan
Fabriqué en Taiwan




